
-

llbt 'o,cil
Y'Yl1-4ijg Y

dk$ a3* d &t+:l

EldJi.tl C*.+, g/"lrJJf dh.afl fu$ i)tJt;"i

ai{f l arY.rrl, lli{ll i t$)iri PEei

F300 ,e3*191illP&.;

(l7.1l Y,
a,rt"":3* krir ra* rlr ltasr*iJt @uli .ildll f lii 'r t ..fltr*tt+rtftrya*"tttrrry,rtt,-#JI "'

.*lt i*Crirt+3>til ;.' a,'>t*JtJ irtidl-l Y .Jll {tl ptiirl$ adall lc*l*{Jl {r{'ft't*Irtr, eiq' r'F il----*---EtrGiIFEr ary-tr auve leFtsr-l -t

l*r"dIF{.E tr^*. t*l *t" .tfi t etlfE r*}' *ri:Jr"'o

A td!$+I3dJ"f f ir34lt,rlrP;*t-v

tlClltg]*tdir&rb'!'

--- 
ri+,lrrlttJti

.iLr'tll,*t fu)4-rlLl rl*il}lf ,JjI'*Jl pjr4 ul*J)tlrH lu*rrLt e

a*r**lrrririrl&l,itrlf .3,. c{if ry{i-rt1!{I[
rrire, Ar furli,It &lrydl dl JUJXI &J*'rLlY

---:ffi.,-:g'iE'-.6l"3j,j.'^
_---

ffi
1fut,-ti

dJriJl

ffi|.+
GJ*.-Y'

LtJl$te )blb,A -lC

a*t*{

'a"*..r| a{t". )U D, C ,f B 3t A dl* ,,ltti &.tltt e&, (.l {iCIl i'lljdl(trttr:Y) rd*{ffirtlq"l, vttv '

(&+., k d,6-D- 4^-U*ILC - e$cytB- ft*ddr-A I are, {r$>br rJrl** Scientific Elthics &*tl il*}te'l'utu J t

(Ai-kd6-D-rr1;ilsrr+r-C - *t.fra*l-B.rl*irtlcti,irr.rAlpl+**6rli'tlr{iH;ifiEotil,L,lJ'c'Yl
( LCso -D - LEL.C - LOL-B -LDSoAr i.rrlstrtrl*trridrstk #t*r*d;u1*rii{til.1a*t4t_t:"'.' -]I

(![",t iJ.6-D - ef,eiijt?dtedLc - +.rLB - i.pJLAl a*rbjtittr.{'ut*igx3l"f aehltflr:t!'-tt

tr!+, Lr 

'lg*p 
- ai*Bdt -C - ai,6lt - B - ,1trl:il -A I ullJl ,lis Jll, tJ3 t{f fiii 0i }51i {iiJt 

qiLlllt d'ltFCl &" d'J*a' 'Yp

(6{* k dir-Djl+,*t*9!.$t CQrl.eilll.ldrlill-Btbl4t}tr i.utjllAi 3*j} aJ{ f k*tt rr+Ul }6.ld diJf 
ti{tt*lt p'tr

(6!1lrdgr-D -a*edJl-C - &ll&,$re-B' tJ'L:Jldl'*ibalA)nhiti,lUlle &Jl,tr'r'tv

tri+rrrdgr* D-gU!,plr-c-$irr3;kr-B Ot6$.ll 4i"* Al t{4&:t ?{idla**clra'ynil{,r4i{itjltuklll}liJrlti:.'t^

(&{* 1,, J6-D- ir$i-C -pr*idl-B' jl{+Jl -A)tu),t*ta4bjlaTelirtrrf! MSDS-Yq

1[strrraD q$Jlr-c a/ijJtI+]-B ?dulldiiltf iirullJbalsliitJA) tuj]ti;trtsf'rt1'ci*J'

(&i* t"J6.-D- trlra.Jr-C- dtibxdJds-+.*ltA>r'rla#q*ld*l!,n 'J{"'ii'6r{albd 
ll'lut*tti"tt

r v-D * lC - 0.8 - 13 . ) foJ.ll &b'El d 4til'l'rl ;'qr$l 116 JY

,,JLr U i"rbHlti:krlJ <rl rll, 1i l*!r3tt i.,l+u < T I .ltl 4ktry$ll-rlt dli''t --'r. i- _

**,U.*-t', *,6fr i

lry*Jlrriidl-tY I 
----egf'glt

1$r h.J=rD. dr&*0lal.C .n|6$,-B -riu*r,,-Algle a+1,!1n$h*Il:t]."ijdFiilt4,l,Y

G+# k rl5r.D *di$ 
d'c gJ'r i'ii} -C'f'4lt l^ia -B @'tuu-Al f Sletl'tt

G#t Lltr-D-rtgyr-c-r1{rILB -1Jill9;iJiIl-Alfulra1a+tura*i.e fuIiaiel#l'iiil&t}hjdl&lJ0

f&.r.trr,j4rD- tfrkfthl4-C - adh*<rC,ldLitB -fo*:f:+atl*&t&tA)LJ"l"ll&LCllii'.J'l

(0{.,.f,.1}^6r_D*&LI{F$&;-C-fp.rr#lai,,}i1t3 ab3}to'ilA) t*d}#1Ot{I}ti}t;/}l+'!" JY

(&{- t" e14r -D- l*.)lJ&}l fuJt8l. C. tudr#il a.lLal - B * a{d.cl adi&t'Al cl{Jt&Jl ll,il e* JA

( &i., r, d.6-D - &:dLC -il3q63:lB- dtri:Ui:tA ) e+ Plagiarism :r

lsrE.r.

@
Uia.-YY

ili'st

ffi
Pltu-YY

Erb ilJl

(0{- L J.5 .D _q.lyLJt C a*.ill u'dJ -B' rl"e &ri Al I a;dt &Syi,l &Li# J'J J,e -0'

(t
&l*t[(,Jti'glr 6$ll



Assiut University
Faculty of science
Geology Dcpartment

Second semester final exam in metamorphic rocks (G336)

Students: 3''tl year geology

Choose the correct answer A. B. C or D (two marks for each): ...... and Comment (50 Marks)

l. One ot'regional rnetamorphic texture is:

A- clccr-rssate texture B- rrosaic texture C- slaty cleavage D- porph"vroclastic texture

Date: June,2024
Time allowed: 2 hours

2. Slate are a nretantorphic rocks usually havc:

A- same parent rocks
C- sermc colour

B- same mineral conrposition
D- same degree ol metamorphism

-). l'hc I'eldspars in
A- labradorite

metanrorphic rocks are usually represent by:

B- perthite and albite C- andesine D- anorthite and perthite

1. 'l'hc dil'le rent betrveen porphl'roblast and porphyroclast texture:

A- sizc ol'crvstitls
(. - agcnt ol'ntcrtatnorphisnt

B- sl-rape ol' cr,vstals

D- tvpe o1'crl,stals

5. Illucschist arrcl eclogite rocks are conrmonly associated with cerlain tectonic setting:

A- translbrnred lault boundary
(l- burial rnetamorphisrn

B- divergence plate

D- sr"rbduction zone

6. Zoisitc is a characterized mineral of':

A- lor,i -grade B- very lquz-grade C: medium grade D- high grade metamorphisrn

7. \\ihen stilrrutlite and oligoclase are present in rocks ol'meclium grade. i,r'here oligoclase and

hornl'rlcntlc: arc also present in rrtediurn grade rocks

,\- dil'lL'r'ertt itr pressurc
('- t.luc to clill'crerit irt parent rtlcks

B- clillerent ilr tenrperature
l)- clillcrcnt in both telrperature arrcl pressure
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i

tt. M i-ernatite tilrnts under extrenle
A- progracle nretanrorphism
C'- hurial metamorphisrl't

temperature and
B-
D.

pressure conditions during:
retrograde metam orphisrt
regional rnetarnorphisn-r

9, At depth 5-6 km. the
(till ol'0.15 D) up to
A- high-gradc

intrusion of sy'enitic nlagma rising the temperature of countr,v- rocks
tenrperature ofl

L3_ 1eq,_grade Cl- nrediunr-grade D- r,er)' low-grade

lhc ditl'erent between protomylonite and
A- degree of cataclasticr
(-l- rccry'tal lized rate

r"rltramylonite:
B- mirreral conrposition
D- proportion of matrix

I LA rock that has undergone cataclastic
ot'the lbllowing?
A- preserved sedimentary layerir-rg
C- new minerals

metamorphism would most likely display which

B- pulverized r:ock fragnrents
D- large olivine crystals

12. Which
A- r,r,ith

Il- r.vith

C- with
D- with

of thc tbllow'ing statements
i ncrcasi ng nretamorphism,
i ncreasi ng nretamorphism,
increasing metamorphism,
increasing metamorphism,

about metamorphism of a shale is false?
the clay rrrinerals breakdown to form micas
the grain siz-e of the minerals gets smaller
foliation develops
the amount of water decreases

lS.Which of tlrc fbllowing
A- srcenstone - basalt
C- schist - shale

metan'lorphic rocks is not paired

B- quartzite -

D- horn{'els -

with its true parent rock?
quartz arenite
dolomite

l4.Which Iist olmetamorphic facies is in order from lowest to highest grade?
A- arlphitrolite, zeolite, greerrschist, granurlite
I:J- z-colitc, grecrrschist, aniphibolite, granulite
C- src-cnschist, granulite, arnphibolite, z.eolite
D- granulite, arnphibolite, greenschist, zeolite



l5.Sedirnentary and metamorphic rocks can both be found on Earth's surface. Unlike

sedimentary rocks, however, most n:Ietamorphic rocks:

A- fbnrr on or near l:rarth's surface

B- cannot bc broken down to form sediment

C- cotrtaiu nritrerals that are stable at Llarth's surlace

D- reach Earth's surtace only through uplift of deeper rocks

l6.At distance
A_ 416 i 

.l.c
%D of basic intrusion, the temperature attends to:

g- 4lQ+'l"c g- 4lQ t'I'c p_ 4{Ql-1'c

l T.Within a 50 mile rraverse you walk from shale into slate into phyllite. You are walking

in the direction of:
A - increasing metamorphic grade

Il- decrcasing metamorphic grade

C- increasing degree of contact metamorphism

D- increasirrg degree o1' cataclastic metamorphisrn

I S.Andraditc present in:

A- rcgionally rnetarnorphic sediments

I]- clvnantic metamorphic sediments

C- tlierrrtally metamorphosed calcareous sediment

D- rletasomatic calcareous sediment

19.'l'he index metamorphic mineral need:

A- specific lithologY
C- specific degree of metamorphism

B- specific type of metarnorPhism

D- all of these

20. Amphibol itcs tacies

A- homblenbe
is named afier index mineral:

B-hypersthene C-andalusite D-forsterite

I I .'l'alc-carbonate
A-rcgional

rocks are product of:
[]-thenrral C- rnetasomatic metamorphism D- dynamic



22'Factors govern the width of contact metamorphic aureole at particular level of erosionA- temperatufe of intrusion B_ thickness of intrusionC- tYpe of lithology D- all of these

23.What are the different between
basalt?
A- grain sizc
C- minc-ral composition

mylonite forrned from shale and mylonite formed from

B- texture
D- degree of cataclases

24.In high grade metamorphic
,,\- clrcntical stucly
C- phy,sical study

rocks, the original parent rock source
B_ field study
D_ microscopic study

identified

25.'l'he different between orthogneis; ;;;
A- grain size
C- de-qree of metamorphisrr

paragneiss:

B- texture
D- parent rocks

(,ij* -'^- ^ ** ia*a 7.t i,rtS,
CI+,JU&gudW

;-frb,sr&;lt 4it*a t *io,gjti,,ilt,7bi. I
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Partl: Rock Mechanics (18 Marks
j Discuss briefly the factors coutrolling the behrlvior of rock

If) Define the following items (8 Marks)
1- Angular Strain
2- Transpression
3- Ductile substances

4- Elastic strain

(5 Marks)

true (T) and the incorrect one with false (F) (5 ryIarks)
1- Shear stress can be either compressional or tensional. ()
ffiinincrementsismorediffrcultthanthefinitestrain. ()
3- Gravity is an example of surface forces. ()
@finingpressure,thevolumeofthebodydecreasesandthe

dilation is positive,
()

@stresshavenocomponentsofnormalstressactingonthem. ()

Good Luck Dr. Ilussan Abbas

PART II : Structural Geoloev (32 marks)
THE FOLLOWING OUESTIQNS:

l. A) Rewrite the complete sentence using the following wordst ' (5 marks)

strata - diapir - structural dome - evaporite - intrudes

^::': ::::::: ll|.""ii,; ;;;;; ;l;ilih :::T:: :::: iiH'".:ffi.,"J
surrounding rock ....., forming a'.'.'.

B) 1)What is the type of the fault?

2) show the different fault-sliP

components in the blank

rectangles 
g marks)



I

IL Choose the correct words to complete the following phrases and
then rewrite in vour answer DaDer: (One mark each)

1) An imaginary plane that is tangential to the hinge zones of a series of
smallfolds is called:

Axial surtace - Enveloping surface - Bedding surtace

2l Ona listric fautt the hanging-watl block rotates around an axis that is

a) parallel to the fauft surtace
b) perp.endicular to the fault surface
c) oblique to the fault sufiace

3) ......................is a term used to indicate the direction of movement and rotation
that occurred during deformation

Vergence Simple shear - Rake - Enveloping surtace

4) In similar folds
a- maintain constant layer thickness across the folded surface.
b- the layer thickness parallet to the axial surlace remains constant.
c- inter-limb angles are equal.

5) ln faulting, the horizontal component of dip separation is
called......

Throw Heave dip slip

6) A non- cylindrical fold is characterized by ..........

a curved hinge line - straight hinge tine - refolded hinge line

7) High point of the hinge line in a noncylindrical fold is called

Depression - Culmination- Amplitude

8) Kink folds are small folds that are characterized by

a) irregular and isalated fold structures
h) straight limbs and sharp hinges
c)with only one tilted limb

g) Large-scale recumbent folds often associafed with thrust fautting; they
are called

Thrust sheefs nappes - Duplex

10) .......... . is a fault rock consisting of loose or loosely bound
angular rock fragments often in a gouge matrix.

Pseudotachylite

U" Uttrisi,att ,Jg ili*yt ,3+

Mylonite Fault breccias



-

ANSWER ONLY TWO OF TH

III. Write on Anderson's theory to explain the relation of stress to
faulting. (6 marks)

lV. Write the proper name of each structural feature 1,2 ,3,4, 5 & 6.
(6 marks)

1)............ 2)............

4).,.......... 5)............

V. Write short notes on :

a - Field criteria of faults.
b- Listric faults.
c. Parasitic folds .

Good Luck ! Prof, Dr. Moustafa Youssef
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\

Final Exam

Electrical Prospection (G 358)' Total 50 Marks

===========================================================================

A) Mark the iollowing statements with rrue (v) or False (x): (25 marks, one mark each)

Statement

@is extensively used for the

exolorati on of di ssem i nated meta !!e9ec!-|ninel4!-- -,r.rmd sometimes called the

cha1gg!_
Dipole-clipole array Ir"ttiuittd f:: T ]:asurements 

to

IP methocl cnn be ,''";i;;;p litl"'logic variatiorrs in the

'*lly ft"' 
"0

MHz to severalthousand MHz . -*-- -

The propagation of Onf ;;t't-" Cpn depends only on the

clielectric properties of thc substlrfa!e

Tlre tlielcctri. p*r,,"ttitGiitltl-*t'f ^ ifle ibilitt','f 
lt].L',t^:*t 'o

,,",'* e Iu .ncrg) in the f9'1"-9.t inttttt'9!-cltn-I#:Polrtt'iralton

In GPR the attenuatit";fEM *t'gf is^-[rinra'il1 c,nt',llcd b1'

ihe eiectricat co nO uctiv!q'3 f ttre s u ns U J{act'

rhe depth to target ffi .:1*: [':n%:i:l;Jffifil il;iiffi;;;;;;i;. ";.' ev (v ni th ro ugr': th e m ate rial

measurements
;.*,ltt fro*;.trt'," tn the mobilitY of

Membrane Polarization

antl higher resolutitttt
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ln GPR, the verticalresolution is a measure ol'the alrilitY to

reflectorsed

The eiectromagnetic (EM) techniques can be classilied as time

d o nr ai n o t" ! leq ug4gy dq[ta4 _s]s!91q!-
The main disadvantage of the EM methods is that they require
direct contact with'the srou.n-d

i,'i VLF method is very effective in locating subsurface zones of high

electrical conductivity

B) Choose the correct answer of the following: - (25 marks, one mark each)

25)The induced polarization method is classified as:

27)The lP method is a primary tool to explore:

a) porphYrY cuPPers dePosits

b) bedded lead-zinc dePosits

c) sulPhide related gold dePosits

d) all of the above

28)The membrane polarization is most pronounced in rocks containing:

a) silicate minerals b) iron minerals

c) carbonate minerals d) clay minerals

29)The lP effect is controlled bY:

a) surface method
c) electrical method

a) ionic mobility
c) surface charge densitY

a) time domain
c) f requency domain

a) m/sec

c) siemens/m

b) active method
d) all of the above

b) surface area

d) all of the above

b) space domatn

d)aandc

b)ohm.m
d) mSec

30) tn the lP method, the increase in pore fluid chemistry will result in:

a) general decrease in lP nragnitude

b) general increase in lP magnitude

c) decrease and then increase in lP magnitude

d) increase and then decrease in lP magnitude

31) lP measurements can be performed in the:

32) The unit of chargeability for lP measurements is:

ln GPR, the hrge.r:fho,Fresnel zone, the lower the horizontal

I" EM *"th"4 a,secondary EM field is produced if a subsurlhce

ft e st<in depth'in;EM:rnethod is the depth at which the amplitude

of a plane wave has decreased to 1/e relative to its initial
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33) rhe rp phenomenon develoo' *n""Jl;Jl1[:'Ji'::":

c)aandb

34)rherP method ca:Jffi"fiJ;il::; 
'' 

a) disseminat
l) 

'utt-wut"r 
inilUs'ion ' '

b) IithologY

di all of the above

materials act as:

35) ln the tp method, the subsurface earth "'"' if conductor 
^

a) caPacttor Ji non" of the above

c) insulator 
-^:^x nf FM waves in GPR surveY'

36) which of the f:'!:::l:,;::T:* -*:l:::'-'tion 
of EM

:h of the tollowttto 1- 
nu of the subsurface

a) dielectric pttT't::|.,.., a*h€ subsurtact
l\ t":'.",il5 5il;; il :l'I: :f,', -*r) electrical tt.)""""'.'llitv 

of the subsurface
cj magnetic Permeaor

or trt "t 
the above 

. tt^-+:n rhp attenuation of EM waves in GPR

37) Which of the following parameters has maior effect in the a

surveY: ^ermittivitY of the subsurf ace

a) dielectrtc P , --,r',;+., nf th€ suosurf act

i\ :'['."J,lH [ ; o ;;'; il *'[: .f",T'*c) electrtcat cut tuu"",' 
if ir, of the subsurface

ci magnetic Permeao

d) all of the above

u) t,,r,otocy d) al\ of lhe above

c) insulator

li *.,.t ."",."t . .r- rL^ * ' rer is called:

se) The GpR svstem.where 
the antenna is contaflifflq:fl" 

"^"ransmitter 

and recetr

rJt ' t'- 
a) monostatic c) all of the above

c) nonstatic ^.. .rn he estimated f rom:

4 0) T h e p,, 
I i, i::::#[i,jlffi I :I, ff ,:T J,,u:'.: 

"'" "' 
c a n b e

' 
a) dielectrtc p""']''::1,;J., 

n{ the subsurface
b) electrical conductivity o{ the sur

ii ot*'* of the subsurf ace

d) magnetic il;ffi"ry of the subsurface

4 1) rh e 

:;f:;l"J"l rffi': I iil". 
s u rv ev' - 

:l r *l;' :o'1"." "' 
" "

l) 
"'oiution 

of Penetralron

-'' "' T.:*:ii 
# LT'#i 

i ilil il I #l'=t,li'
c) lower pen"tration depth ano,'Jn'un.l. 

resolution

O) greater Penetration 
dePth ar
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i" GPR, tlr. ".'tl"afiug"f"ii-"" 
i' o ol"utute ol'the nbilitv to
ced reflectors

i er the horizontal

Th" .l""ttomagnetic (EM) techniques ca

donrain or frequency clomain :L:!9q1 ----'----7"
Th. *"i" di.uOruntfi" o-the EM methods is that thel' requrre

direct contact with the gIqlrr1!
cetl if a subsurlhceffind.aryEMfieldisP

resistive an
which the amPlitude

;;;;i";" wave has'decreased to 1/e relative to its initial

Prof. Dr. Gamal Zidan Abdelaal

B)Choosethecorrectanswerofthefollowing:-(25marks,onemarkeach)

25)The induced polarization method is classified as:

a) surface method b) active method

c) electrical method d) all of the above

27)The lP method is a primary toolto explore:

a) PorPhYrY cuPpers dePosits

b) bedded lead-zinc dePosits

c) sulPhide related gold dePosits

d) all of the above

28)The membrane polarization is most pronounced in rocks containing:

a) silicate minerals b) iron minerals

c) carbonate minerals d) clay minerals

29) The lP effect is controlled bY:

a) ionic mobilitY

c) surface charge densitY

b) surface area

d) all of the above

30) ln the lP method, the increase in pore fluid chemistry will result in:

a) general decrease in lP nragnitude

b) general increase in lP magnitude

c) decrease and then increase in lP magnitudg

d) increase and then decrease in lP magnitude

31) lP measurements can be performed in the:

a)time domain b) sPace domatn

c) f requencY domain d) a and

32) The unit of chargeability for lP measurements is:

a) m/sec b) ohm'm

cj siemens/m d) msec
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43) lf the target in GPR il muth,lmaller than the footprint size then:

a) the target will not'be.'I?*"d
b) the target wlfli&d:i$$,4sly qngged

c) part of the tarffii.ii"i1+r'be imaged

d) all of the above

a4) Which of the following modes can be used to acquire GPR survey:

a) sounding model b) profiling mode

c) sounding prlnLiocroAt d) common midpoint mode (CMP)

a5) which of the fotlowing:rt,ethtlds can be used to estimate depth from GPR records:

a) from relative diEteetric permittivity

b) shoot to target of known dePth

c) hyperbola fitting
d) all of the above

46) Electromagnetic methods usually use low frequency EM waves where:

a ) conduction cur'rents predominates

b) displacernent iurfents predominates

c)aandb
d) none of the above

47)The advantage of electromagnetic method is:

a) raPid

b) accurate

c) no direct contact with the ground

d) all of the above

48)The EM systems can be classified as:

a) time vs frequencY domains

c)aandb

49)VLFdetectselectricalconductorsbyutilizingradiosignalintherangeof:
a) 15 to 30 Hz b) 15 to 30 KHz

c) 15 to 30 MHz d) 15 to 30 GHz

50)Whichofthefollowingmethodcanbeusedtomapunexplodedordnance:
a) lP method b) GPR method

c) EM metho6 d) all of the above

.'
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b) active vs Passlve

d) none of the above
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I- Micropaleontolow
(at+lr l0) :cjsyt dt.sr.Jt

Compare between the Radiolaria and benthonic foraminifera in: Systematic position -
environmental habitat - shell walls - shell shape - mode of life
Discuss the effect of salinity and alkalinity in the distribution of foraminifera.
Discriminate by drawing between the different types of conodonts.
Mention the main differences between the fresh water and marine Ostaracoda shells.

(ot+t.r 10 ): ,jt3lldt3-lt
1- Choose the correct answer: (3 Marks)

i- ...., and are examples for the rock forming microfossils.
a- Nummulites, Fusulina b- Fusulina, Mililida
c- Numulites,Globigerinida d- all of them

ii- ...... and are examples for the flora microfossils.

2-

J.

4-

a- Diatums, Pollen
c- Nannoplankton,Fungi

b- Diatums, Spores
d- all of them

Dissolved oxygen in the sea water depends on ......... and
a- ocean circulation, organic matter
b- ocean circulation, inorganic matter
c- inorganic matter, organic matter
d- inorganic matter, sea floor

1V- The wall structure of the earliest foraminifera is
a- agglutinated b- calcareous hyaline
c- calcareous porcellaneous d- siliceous
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Stagnant water marks by ... ..condition.
a- oxic b- dysoxic b- anoxic d- suboxic

vi- Foraminiferal genera live in .... water environments.
a- mixed b- fresh c- marine d- all of them

2- Define ONILY TWO of the following concepts: (2 Marks)
i- Photic zone ii- Benthonic foraminiferal habitats
iii- Carbonate compensation depth 

:
3- Mark the correct and the wrong statements,rland correct the wrong: (5 marks; 1

mark each)
i- For classiffing fossil dinoflagellates, number and arrangement of plates are very important

criteria.
ii- Fossil prasinophytes are exclusively marine and generally much larger than acritarchs.

iii- Treatment of hard indwated clay samples using sodium hexametaphosphate [(NaPO3)6]
provides more palynologically-productive residue than the acid treatment.

iv- Artificial "non-biological" classifications of spores and pollen grains are based on

morphological criteria.

v- Chitinozoahave a particular value to Cenozoic biostratigraphy.
(crt+t.t 10) :&ltill dl.lrdl

1- Choose the correct answer: (5 marks; 1 mark each)

i- Criteria used in classification oftpore/pollen grains are:

a- type of aperture b- grain shape c- grain sculpture d- grain size e- all of them

ii- For the palynological extraction technique, which of the following is considered as an

optional step:

a- carbonates removal b- silicates removal c- oxidation d- all of them

iii- In anidealized life cycle of dinoflagellate, the stage of combined sexual and asexual

reproductions is represented by:

a- motile diploid stage b- motile haploid stage c- motile diploid stage d- all of them

vi- For palynological processing of organic-rich samples (e.g., coal, carbonaceous shale),

the proper weight to be analyzed is:

a- 5-10 g b- 25-30 g c- 35-50 g d- all of them

d- all of themb- Cyclopyle

Page2 of 4
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v- In prasinophytes, the excysment opening is referred to as:

a- Operculum c- Archeopyle
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2- Write briefly on ONLY TWo of the following: (5 marks;2.5 marks each)
i- Safety precautions in palynology lab

ii- Dinoflagellate life cycle with drawings.

iii- Definition, Taxonomy, morphology, and ecology chitinozoa.

II- Historical Geolosy
(crt+ll 10) :cjsYl ijl-l-Jl

L- Give reasons for ONLY TIIREE of the following: (3 Marks)
i- The formation of Himalayas Mountains.
ii- The accumulation of tellites sediments in South Africa during

the early Paleozoic.
iii- The separation of South America and Africa plates.
iv- The closure of Iapetus Ocean.

2- Write the derivation of ONLY FOUR of the following: (2 Marks)
i- Miocene ii- Holocene iii- Cambrian iv-Triassic v- Carboniferous

3- Compare between Oir[LY TWO of the following: (3 Marks)
i- The causes of the formation of the Ural and Sierra Nevadan Mountains.
ii- The climate in the Paleozoic and Mesozoic eras.
iii- The Ediacaran and Burgess fauna.

4- Define and explain the following concepts: (2 Marks)
i- Messinian Salinity Crisis "' ii- Uniformitarianism

(cl+J.t 10) :,itlll dlJ-Jl
1- Choose the correct answer: (5 Marks)

i- The collective term used to describe any and all processes responsible
for mountain building is:
a- orogenesis b- collision c- subduction d- isostacy

ii- Which of the following periods is older than all the others?
a- Ordovician b- Devonian c- Jurassic d- Silurian

iii- Which of the following geologic time divisions is a shorter duration
of time than all the others?

a- epochs b- eras c- periods d- ages
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iv- Which of the following provides the most accurate way of
determining the age of a sedimentary rock layer?
a- index fossil b- fossil succession
c- fossil assemblage E. fossilized algae

v- Which of the following applies to the standard geologic time scale?

a- it was developed through radiometric dating
b- it is based on superposition and faunal succession
c- it is divided into periods of equal length
d- it is divided into periods named for type of rock

vi- Which phase covers over 80o/o of earth history?
a- Mesozoic b- Paleozoic c- Cenozoic d- Precambrian

vii- An unconformity is a
a- sedimentary unit b- period of deposition
c- buried erosion surface d- type of fault

viii- The oldest geological evidence of life on Earth is
a- 545 million years old b- 3.8 billion years old,
c- 6,000 years old d- 8 billion years old

ix- What is the half-life of a radioaclive element?
a- The time required for one-half of a given quantity of the element to decay to its
daughter element.
b- The time required for all of the radioactive element to decay to its

daughter element.
c- Half of the time required for a given quantity of the element to decay

to its daughter element.
d- The time required for the radioactive element to decay half of the time.

x- Geologically, which came first?
a- The appearance of fish b- Dinosaur extinction
c- Red Sea Rift d- RockY Mountains

2- Tabulate the rock forming fossils during the Paleozoic Era. (2.5 Marks)
3- Write an essay on the types of unconformities. (2.5 Marks)

u!; qe.l3-yc.r.l , illlqge Cr"..,rll+p g,1ti.l.l ,d$jfr fJ+i.Yl +*Li e. al3*yl drli
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Answer the following question:

First Question: choose the correct answer: (10 Marks, one Mark for each)
1- In folds, rocks that bend downwards are called .... . and rocks that

bent upwards are called ... .

a- synclines; monoclines b- synclines; anticlines
c- anticlines; synclines d- anticlines; monoclines

2- Which of the following sedimentary structures is common in the sand dunes:
a- ripple marks b- cross-bedding c- graded bedding d- all of these

3- A rock that is formed at the earth's surface is?
a- Laccolith b- Dike d- Sill d- Flow

4- Geological processes operating at the present time are the same processes that
have operated in the past" is a statement of:
a- Faunal Succession b- Uniformitarianism c- Evolution d- Correlation

5- Rain prints can occur in....
a- Igneous rocks b- Sedimentary rocks
c- Metamorphic rocks d- all of these

6- Which one of the following is a secondary biologic sedimentary structure?

a- boring b- flame structure c- burrow d- styllolite

7- Which of the following does not provide evidence of shallow water
environment?

a- Lamination b- Rain prints c-'Ripple marks d- Mud cracks

8- The process whereby rocks are changed to sediment is called

a- Compaction b- weathering c- solidification d- lithification



9- Strucfural cross-section illustrates

a- the various positions of the rock formations as they actually look

underground are represented.

b- the horizontal view of several stratigraphic sections

c- what the rocks are doing and where they are going?

c- all of these

.. . . of chemical sedimentary structure.

stylolites b- mud cracks c- none of these d- both of these

Second Question (10 Marks)
1- Write on onlv three of the following concepts: (5 Marks)

a- Bioturbation. b- F1ute mark. c- Load casts d- mud cracks
2- Define the following concepts:

a- Stratigraphic cross section b- Ripple marks (5 Marks)

Third Question (10 Marks)
1- From the figure at right answer the following

questions: (5 Marks)
a- Define the sedimentary structure.
b- Draw the figure in your paper describing the

important indicator of this sedimentary
structure.

2- Compare between the following pairs: (5 Marks)

10-

a- Crater - Calderas
b- Stocks - Bosses

b- Batholiths - Diaper
d- Fracture cleavage - Slip cleavage

Fourth Question (10 Marks)
- W.rite short notes on the different Epes of Volcanocs.

Fifth Question (10 Marks)
- Mention the main stages of crenulation cleavage to form.

;;;;;; ; ;;;,*"; 
- GOOD LUCK

Prof. Dr. N. A. Obaidalla
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Question: Answerthe followige 0[CO] qr rstions: (50 Marls)
l-Digital Subscriber L.ine (DSL) uses existing lines to connect machines to the Internet.
A. Telephone B. Internet C. TV D. Water

Z-A I An. defines the forrnat and the order of messages exchanged between two or more
communicating entities, as well as ttre actions taken on the transmission and/or receipt of a message or
other evenl
A.protocol B. modern C. Internet D. end system.

3-The............ is an infrastru.cture thatprovidos services to applications and aprogramming interface
to distibuted applications.
A. Internet B. modem C. router D. protocol

4-. ... . . .. ... . is the actual rate at which bits are being sent from sender to receiver measured in bits/time
unit.
A.tsandwidth B. Throughput C.Datzrate D. Bottleneck

5. Moving aniving data packets from router's input link tcr appropriate router output link is lnown as

A. routing B. switching C. forwarding D. B and C

6-The functionalities of the presentation layer include
A.Data compression B. Data encryption C. nata description D. All of the mentioned

7-in the OSI model, as a data packet moves from the lower to the upper layers, headers are..
A.Added B. Removed C. RearrangedD. Randomized

8-The tirne required to-examine the packet's header and deternrine where to direct the packet is part of
the.,....
A. queuing delay B. transmission delay C propagation delay D. processing delay

9-Which connection is necessary for a computer to join the intemet?
A.internet society B. intq:ret se.rvice provider C. different computer D, intemet architecture board

10-The is the amount of time required to push all of the packet's bits into the link caiculated
by LlR, urhere L is the length of the packet and R is the transmission rate of the link
A. queuing delay B. transmission delay C. propagatiou delay D. processing delay

ll-The is the time required to propagate from the beginning of the linkto another router
calculated by d/s, where d is the lengfh ofthe physical link and s is the propagation speed.
A.queuing delay B. transmission delay C. propagation delay D. processing delay

l2-The is the delay the packet experiences waiting to be h'ansmitted at tho output link and is
affected by the congestion level ofthe router.
A.queuing delay B. transmission delay C. prop4gation delay D. processing delay

l3-Which of this is not a nstwork edge device?

:
A. Switch B. PC C. Smartphones D. Servers

14-The is where network applications aud their protocols reside.

15" TCP and UDP are ....,......,.,. protocols.
A. physical layer. B. link layer. C. transport layer. D. network layer. .

16-The routes tlatagrams from source to destination.
A. link layer. B. application layer. C. physical layer. D. uetwork layer



17-The uoves the individual bits of a frame from one node to the next through

comrnunication linls'
e. phy["i f"y.r. B. link layer. C' natwtr''- layer' D' application layer

1 E-Ethemet, 802. 1 1 and PPP are " " "'' " "' ptot'ocols'

e. ,ppii."til" layer' B. tansport lay€r' C' network layer' D' link layer'

19. The provides syncbronization' and data exchange recoverY during

I

I

I

communication between applications'

A. ;;li";d"" layer. B' presentation layer' C' session layer' D' lirk layer'

20-ln the data link layer, what is the primary fi:n$ion of the framing process?

e" ro "*rp*r"t" 
ao:t, wia t 

"aoer 
informa-tion for addressing and error detection.

n. to to*ir"ss data for more efficient tansmission'

C. To routi data packets across different networls'

D. To establish una manugu connoctioas between applications'

2l-What is port numbers for IITTP protocols?

A. 80. B. ?.00. c. zs,D.403

Z2-What is the difference between cotnection-oriented and connectionless services in the data link

I]T"**o*-oriented services establish a connection. bofore data tansfer' while conuectionless

services tansmit data without any pre-established connection'

B. Coonection-orientel service, L fu.t"r, *nn" .oo"""tionless services offer more reliable data

transfer. :--^ --^ ".^^,{ :- rr/ar.r
C. connection-oriented services are used in LANs, while connectionless services are used in WANs'

D. connection-oriented servicos require tes, or#u"ad, while connectionless servtces have additional

header information.

23-What is the primary firnction of the Address Resolution Protocol (ARP) in the ttata link layer?

A. To map logical fp aaaresses to pAysical MAC add'resses of network devices'

B. fo maragJnetwork congestion and flow co-Irtroi'

a. i;;*"fi,. domainuaries into correqponding IP addresses'

D. To establish and tear down connections for communicafion scssions'

24-Wharis the key difference between a Point-to-Point (""t]-*i an Ethernet link?

e. BIU"*J is 4'pically used in LANs, while PP? is used in WANs'

b. pi,t;;pp"fi; fdljupil .ommunicatiorq whrleithemet is half-duplex.

C. Ethernifoporates at higher speeds compared to PPP'

D. PPP requiies more complexiabling compared to Ethernet'

zs-What is port numbers for HTTPS protocols?

A.200. B.25. C.403. D. 80-

26- What is port nrmbers for SMTP protocols?

a 200.8.25. C.403. D. 80'

27-what are the main advautages of using a switched network compared to a sbaredmedia network?

A. Switched networts are terr""*p"".ir"L implement and require simpler cabling'

B. Switched networrs rrre, rtigt 
", 

t-d*i.ltit and reduced coliisions for individual devices'

c. switched networks are easier t0 manage and troublesboot compared to sharedmedia networks'

D. Switched networls are inherently more seour& due to isolated data paths'

28-Briefly describe tire concspt of Virtual LANs (WANs)'

A. A method ro, ,"6itiie a ptrysi"ul 
""t*olt[ 

into logical subnetworks based on securify or

administative PurPoses.
ts. A techniqu. to *o*ii* multiple ph1si91f^networks into a single logical network'

E. e *uV to prioritirt network traffic for different types of data'.

D. A method for encrypting data pac[ets for secure communication'
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29-What is the prinrary firnction of the Intemet Prolocol (IP) in the network layer?

A. To encapsulate data with header inforn , iion for addressing and error detection.

B. To route data packets aoross iuterconnected networks based on their destiuatiou addresses.

C. To establish and manage connections between applications.
D. To provide reliable data tansfer with errot checking and retansmission.

3g-What is tbe difference betwee[ datagrams and vifnral circuits in network layer services?

A. Datagrarns are used in LANs, while l'irtual circuits are used in WANs.
B. Da.tagfams provide a connectionless servioe, while virtual circuits oftr connectionorie,lrted

communication with grraranteed delivery.
C. Datagrams are more reliable than virtual circuits due to error correction mechanisms.

D. Datagfams require more conplex routing protocols compared to virtual circuits.

31- What is the fimction ofthe Internet Coahol l{essage Protocol in the network layer?

A. To exchange confiol messag€s for network diagnostics and error reporting.

B. To route data packets based ou their destination IP addresses.

C. To provide reliable data hansfer with elror checkiag and retransmission.

D. To hanslate domain names into corresponding IP addresses'

lz-What is the purpose of port numbers in the transport layer?

A. To differentiate between different applications on a single device.

B. To idenli$'the soutce and destination devices on the network-

C. To route data packets across diffe.rent networks based on their destination addresses.

D. To provide error detection and correction for reliable data transfer'

33-What is response status codes for request succeeded, requested object later in this message?

A.200. B.301, C.400. D.505.

34-What is the role of the Domain Name System (DNS) in the applicafion layer?

A. To hanslate domain names into corresponding IP addresses for user-frieudly accffis.

B. To manage network congestion and flow control'
C. To establish and manage sessions between applications'
D. To encrypt data packets for secure communicatiou.

35-What is response status codes for requested object moved, new location specifled later in this

message (in Location: field)?
A. 301.8.404. C. 400. D. 505.

36-What are some comrnon teclmiques used for congestion conhol in nefworks?

A. Increasing the bandwidth of network media.

B. Employing traffic shapiug to prioritize c.ritical data.

C. Implernenting queuetng mechanisms to manage data flow.
D. All the above

3?-What is the firnctiou of the File Transfer Protocol (FTP) in the application layer?

A. To send and receive email messages.

B. To exchange control messages for network diapostics and error reportiag.

C. To browse tlie web and aceess information on remots servers.

D. To t'ansfer files betn een devices on a network.

38-How does the Simple Mail Trarsfer Frotocol (SMTP) differ &om the Post Office Protoool (POP) in
the applicatiou layer?
A. SMTP is used for sending emails, while POP is used for retrieving emails from a seryor.

B. SMTP requires authenticati.on for sscure email access, while POP does not.

C. SMTP operatcs on a different port number compared to POP.

D. All the above



39-What is the purpose of the Hypertext Transfer Protoool (HTTP) in the applioation layer?
A. To exchauge conhol messages for network diagnostics ana uror reportiir!.
B. To transfer filos between ilevices on a -,r.hvork.
C" To send aad receivo email messages.
D. To provide a protocol for accessing atd interaoting with w-eb resourcos.

40-what are the main benefits of using a layered network architecture approaoh?
A.Provides a less secure oornmunication environment
B. simplifies netrvork design by combining all functionalities into a single layer.
C. Reduces the complexity of network protocols and standards.
D'Enables modularity, allowing independent development and modification of qpecific layers.

4f if named host changes IF address, may not be known Initernet-wide uatil all ,...... expirel?
A. TTLs. B. TLD. C" uDP. D. TCp.

42-what is response status codes fbr request msg not understnod by server?
A.404. B. 301. C.400. D.505.

43-What is the significance of firewalls in network security?
A. Firervalls provide secure remote access capabilities for authorieed users

B. Firewalls encrypt data packets for secure courmunication.
C' Firewalls detect and prevent malware and malicious software from entering the networlc
D.Fire.walls filter incoming and outgoing netu,ork raflic based on predefined securiry p;ficies.

44-Whlrtis the purpose of IP spoofiig?
A)Packet interoeption B)Denial of Service C)Botnet D) Injection of false soruce address

45-The number of layers in ISO OSI reference model is...
A)58)7C)6D)10.

46-What does SMT? stand for?
a) Simple Messaging Transferal protocol
b) Simple Mail Transfer Pror.ocul
c) Simplified lt{ail Transfer Protocol
d) Simple Mailman Trail Protocol

47-E-mail uses which Applicatiou layer protocol?
a)SMTP b) rrrP c) FTP d) SIP

48-Always-on host.
a)Clierrt b) Server c) a and b d) None of the above

49-Identifi.er includes.. .

A.IP address B.Port numbers C. Socket D. Both A and B

50- Socket... messages.
A.Seud B.Receive C. Both A and B d) Noue of the above



u vers . ../ l:l\.I {:.;: },

Mri
Faculty of Science
Department of Geology , r.'ifliH

;..vv?..I

202312024 Second Semester, Fi

On: Earthquake Seismology and Seisr

tal Examination

ric Prospection (G-350)

5lune2024 I (Total Marks: 0) | Time:2hours

ired sk

Assiut Uni ir

3. Which of the following describes the
earthquake?
a) the Modified Mercalli Scale

c) the principle of superposition

First Ouestion: Write on ONLY FOUR of the followin[:
a) The seismic activity in Egypt, including notable historical earthquakes.
b) Vfhy do some people die in some earthquakes mo{e than others?
c) Concept and types of focal mechanism solutions. 

I

d) Main components of seismic data acquisition syst{m.
e) Hydrocarbon indicators derived from seismic refl(ction data.

0 Lirnitations of seismic refraction survey. 
I

Second Ouestion: Compare between ONLY THREE ffom the following:
a) Convergent vs. divergent plate bourldaries
b) P-r,vave vs. S-wave shadow zones i

c) Earthquake intensity vs. magnitude i

d) Alis 100 more intense than B

Which of the following sequences correctly Iists {re different seismic wave aruivals from
first to last? I

a) P-waves ... S-waves .... Surface waves b) S{rface waves ... P-waves .,.. S-waves
c) P-waves ... Surface waves ... S-waves d) S-irvaves ... P-waves .... Surface waves

d) Critically refracted head waves vs. reflected wave
e) Normal vs. dip moveout

Third Question: Choose the correct answer: (20 marks)
1. Earthquake A has a Richter magnitude of 7.0 a{ compared with earthquake Brs 6. The

amount of ground motion is one measure of ear(hquake intensity.
a) A is 10X more intense than B
c) B is 0.0lX as intense than A

b) A lis 1000 more intense than B

\.g*l{r.q

(16 marks)

(9 marks)

during an

, and the
mostly these days with

)

4.

5.

6.

We record ground shaking wittrl an instrun
instrument makes a recording on aldevice called
digital computers. The recording itleH is called
a) seismometer...seismograph...seismogram b)
c) seismogram...seismometer...seismograph d)

t called a
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Which of the following statements best descrines ltne state of earthquake prediction?

a) scientists .un u.",rritely predict the time and loc[tion of almost all earthquakes

b) scientists can accurately predict the time and locption o.f_about 50% of all earthquakes

.i scientists can accurately predict when an earthqriake will occur, but not where

dj scientists can characteiize the seismic risk of at{ ar"a, but can not yet accurately predict

,*tY

8.

most earthquakes 
i
I

Which of the following statements is false?

a) Most earthquakes occur at plate boundaries

Ui fne time and location of most major earthqu can be predicted several days in advance

strike-slip faulting
waves

c) Earthquakes can be caused by normal, reverse,

d) P-waves travel faster than both S-waves and Su

g. There are three types of boundariest I where plates move apart from each

other, where plates imove towardieach othero and 

- 

where

plates Jtd. ,t"rgttd. each other. I I ^;) divergent...convergent...transforin b) traja) divergent...convergent...transforin b) traflstorm.: 'dlvergem...convelgenr
c) convergent.. .transform. ..divergent d) di{ergent..itransform.,.convergent

10. Long-term forecasting of earthquak6s is based inainly bn the knowtedge of when and

wheie earthquakes have occurretl in the past.Itlmay include:

a)paleoseismologicalevidenceb)dej*zelopmentofseismichazardmaps
c) identification of seismic gaps d) all of them

11. An example of how local soil conditions cun g.ettly influence local intensity is given by

catastrophic damage of 

-. 

i

a) t98l (M 5.3) Aslwan;"rthq*t* b) tdSS ryt 6.9) Kobe (Japan) earthquake

c) 1985 (M 8.1) Mexico City earthquake d) 2q04 114 9.1) Sumatra earthquake
I

12. Although was the strongest or. {r, Egypt, it was : that left

tne Aeepest imprint on everyone. 
i

4 tne iggS (M 7.2) Gulf of Aqaba earthquake ...lttre 1992 (M 5.9) Cairo event

b) the 1995 (M 5.9) Gulf of Aqaba earthquake ...1*" 1992 (M 7.2) Cairo event

c) the 1969 (M 6.9) Shedwan earthq,ake . .. the tillZ 6A 5.9) Gulf of Aqaba event

d) The 1981 (M 5.3) Aswan earthquake ... the 1195 (M 6.9) Shedwan event

13. A certain timiting value of stress ib known as: 
I

a) Reflection strength I Ul Rlefraction shength

.i Seismic strength I 0l rfleta sffe.ngth

14. The main requirements of the seismic source ate: 
i

a) The source waveform must be repeatable !) i 
E_l.tgy'must be safe and practical

.i Sufficient energy only at the location d) I Use as much energy as possible

15. The response caught from the ground is riieasrlrred by a sensor in seismic land surveys

called: i

a) Barometer b) {oltmeter
.1 Geophone d) 

$YdroPhone
16. All of the following are land seismic sources elcept

a) weight dropped from a truck b) {uclear explosion tests

c) vibroseis d) {irguns

17. In the , the detectors are laid oui in a line that does not.pass through the

ll'lJ#,ll;i,ar profire b) {ron-longitudinar 
profire

c) arc profile d) fione of them
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18. The reflection coefficient (R) is a numerical mfasure of the effect of an interface on
wave propagation, and is calculated as the ratio lof the:
a) Amplitude Ai of the incident ray to the ampli(de A0 of the reflected ray
b) Amplitude Al of the reflected ray to the amplitirde A0 of the incident ray
c) Amplitude A0 of the incident ray to the amplitrlde A1 of the reflected ray
d) Arnplitude A0 of the reflected ray to the ampli{rde A0 of the incident ray

19. is a measure of the ability of a nfaterial to withstand changes in length
when under Iengthwise tension or Nompression.l
4 Young's modulus : Ul Sliear modulus
c) Bulk modulus I O p{isson's qatio

20. The 

- 

is the ratio of the amplitriOe aZ bf the transmitted ray to the
amplitude A0 of the incident ray. j :

a) reflection coefficient (R) b) ac[ustic impedance (z)
c) transmission coefficient (T) d) p{isson's ratio

Fourth Ouestion: True or False: I (5 marks)
1. Since there are an equal number of receivers on eachlside of the seismic spread it is an off-end

spread.l'()
2, Tlie subducting plates generate powerful earthquake$ (sometimes very deep earthquakes up to

700 km) and usually create a line of volcanoes alon{ the overiding plate boundary. ( )
3. Fold or multiplicity is the number of times that the saine miOpoint is sampledby different shots

travel times to map vertical and

()
5. Vertical slices may be taken through the seismi

reflections intersected by any time plaLe. Such a re
time slice or seiscrop.

data volume to display the

resentation of the 3-D d?rta is

pattern of
known as a

()

Prof. Rashad Sawres'Assoc.
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FacultY of Science
Assiut universitY

Botany and Microbiology Department

Final term exam. Q024-2025), Ecology of algae (374 B)

Iime allowed: 2hours

Answer the following questions

Ouestion no (1): Write (yes ) or ( No ) in the front of each sentences from the following

and correct the wrong one. (26 marks) .

oductive natural habitats in the world'

iurfaceofthewaterarecalledphytoplankton.

drus crispus has innumerable useso and a

component of toothPaste.

Algu. may be used as an indicator of climate change

sofbacteriarrndeffectiveagainstotheralgae.

Terrestrial algae can fix atmospheric nitrogen'

e-green algae can bring about death offarm

animals like sheep, horses, cattle.

hytes with a cell wall made of carbohydrat

FBCV-I -,i.* infect eukaryotic unicellular-like green algae.

Ty.hrplrrkt"phytes are a group of algae live on rock surface'

visible range of the spectrum (400-700nm)'

in a lake or ocean that is exposed to sufficient

sunlight for assimilation of food.

Feldmannia virus (FsV) infect brown algae.

ctivecompoundusedinpharmaceuticalcompond

@ed in the reclamation of alkaline user land.



,$

P r * f u n a-o t n t t 6[9 e r a I ga e'

Question no (2): Discuss in detait Three onlv from the following ( 24 marks)

1. Harmful asPects of algae'

2. Effect of prr and temperature on algar productivity.

3.Symbiosisrelationshipbetweenalgaeandinvertebrateanimals.

4. Classify algae according to their possible habitats'

Best wishes and Good luck

d*fp. lsftvettef f. dttf"W

f the ePiPhYtic algae'

h various algal grouP

ae called mYcobiont'

hesis occurs in

icroorganism and pt"y * t"rportant role in all

biological Processs'
ibution of algae in

the lake.

' : ; r:: ::;;; ;;enn ;; ; ;;;i;;;;;t; fo; s;;wth and photosvnthesis'
Diatoms tolerance a large range of PFD as a requrrer

organic matter Production'

aline user land'
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Principles of Petrology (G324) for 3d level student

May-2024

PART II SEDIMENTARY ROCKS
(Totol 17 markl

(tttustrate vitur answ

l-Write about TH&Epquestions ONLY of the following: (lmarkfor each question)

a- Cross Bedding, Mud Cracks and Ripples Marks. What is their significance?

b- Different methods of measuring particle size of clastic sediments.

C- Petrographic classification of limestone.

d- The difference between Roundness and Sphericity of grain.

2- Complete the Follo (2 markfor each question)

a- Matrix is fine material which fills the among
the particles, whereas, Cement is post- depositional ............... ................... in
the............. ... among the grains and matrix.

b- The different methods of graphic representation of grain size of clastic
sediments include ....................... , and .......on both

.and...........

c- Colloform
precipitation

d- The minor

textures produced from
in the

or micro relief features of the

system by direct
as................

quartz grains are termed

GOOD LUCK

Pro. Dr. Ahmed R. El Younsy
May-2024
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Assiut University
Faculty of Science

Geology Department

Second Semester Exom.
2023 - 2024

Time: 2 hours

Subiect: Sedimentarv Environments and Sedimentary Basins (G335)

Answer the following questions: 50 Marks

1, How does a stream transport its sediment load? What processes are at

work? (5 Marks)

2. Important information's oFe gained from the interpretation of ancient

sedimentary environments, mention these. (3 Marks)

3. Describe the properties of an idealized deltaic focies model, illustrating

the dffirence between delta platform and prodelta sediments, (6 Marks)

4. Abu Gharadiq and Shushsn basins are the most famous productive

sedimentary basins in Egypt, mention their location, thickness of their

sediments, and age of the source rocks, (6 Mark{

5. Write on the stoges of rifting, illustrating your. onswer with

drawings.

6. Which of the following is true and which

ones:

(5 Marks)

is false, coruect the false

(13 Marks)

a. ( ) Geometry of sedimentary rocks doesntt help in environmental interpretation.

b. ( ) Facies model of both Jluviatile and deltsic sediments are similar.

c. ( ) The thickness of sedimentary basin sediments is controlled by the depositional

system.

d. ( ) Meandering rivers may form in high gradient areas.

e. ( ) Trench basins are related to plate divergence.

f. ( ) Cosmogenous materiuls are well documented in the marine sediments of Egypt,



g.()KomomboandBenisuefsedimentarybasinshavetheSameage,

h. ( ) The sedimentary basins of Africu are largely of two types' intracratonic basins

andfailed rifts'

i. ( ) Delta forms only where rivers enter seas'

j.()Windisoneofthemainprocessesalfectingthemarineenvironment,

k ( ) Nile Delta Basin is dominated by siliciclustic'carbonate sediments'

l. ( ) Flood plain and bed loadfluviatile sediments are usedfor the sume industrial

purposes.

m.()Sedimenturybasinsdon,tillustruteanyevolutionwithtime.

7, Choose the correct answer A, B, C or D: (12 Marks)

a. The process by which the ground surface is lowered by wind erosion is called-

@ oeuation @ Inlation @ Ablution @ None of these

b. The given maP reqresents

@ Globat distribution offluviatile sediments

@ GUnal distribution of sedimentary busins

@ Gtotul distribution of modern aeoliun sediments

@ Gtobal distribution of deltuic sediments



v_olcanogenoas sediments are more frequent in-
@ continental environments @ Transitional environments

@ Deep marine environments @nomAandB
The given Jigure represents

\ \ \**4*\ \

$rs *p$*wl$
v$*?$nt Tfi&rs

pA*-u$"srrsfiglr{
B{fitf;rts$l

@ Post-depositional sedimentary busin @ Syn-depositional sedimentary basin
@ Pre'depositional sedimentory basin @ notn A and B
lVhich of the following stotements is false?
@ Tsunamis can be generuted by tandslides

@ Tsunumis can be generated by volconic eruptions

@ Tsunamis con be generated due to the gravitationol ottraction between the Earth
and the moon

@ Truoo*is cun be generoted by meteorite impacts

The given photo which is exclusively composed of sandstone represents one of the
most common londforms, in which environment can yoa expect to find it?

@ Beach

p

s*s$ss

Fluvistile system @ Desert system @ Dekaic system



g. The giventigure rePresents-

@ Active rWng b po* ive rifting @ not* A and B @Neither A nor B

h.WhichofthefotlowingisthelargestsedimentarybasinofEgypt?

@ sar circular

@ Embayment

j. Letter @ io the given diugram denotes

@ eut|oTsuez basin

@ Beni Suef basin

i. The given Jigure represents 

-lasin

@ Neritic sediments

@ Lagoon sediments

@ Komombo basin

@ Ntte Delta basin

@ Equidimensional

@ Structurally closed and elongated

@ femgic sediments

@ noth A and B



k The given Jigure represents

@ Oetta retrogradation

@ O eka retro gr adatio n-p ro gr udation

l. The given ftgure represents

@ Asymmetricul coarsening upward cycles

@ Symmetrical coarsening upward cycles

@ Asymmetricul Jining upward cycles

@ SymmetricalJining upward cycles

@ Oelta progradation

@ Delta progradation-retrogradation

Good luck Eaat A. Ahmed


